

On Partial Differentiation and Integration of Triple Generalized Transformation

Assist. Prof. Dr. Metaq Hamza Geem¹ and Rabab Jasim Hadi AL-Owaidi²

¹Mathematics Department, Al-Qadisiyah university, Education College, Al-Diwaniyah, Iraq

Methaq.Geem@qu.edu.iq

²Mathematics Department, Al-Qadisiyah university, Education College, Al-Diwaniyah, Iraq

Abstract. In this paper, partial differential and integration of triple g-transformation are studied. Also by using gs-transformation of integration, the inverse of this transformation is found. We use partial differential of triple g-transformation for finding triple g-transformation of some function of the form $x^k y^n z^m f(x, y, z)$.

Keywords: partial differential equation, integral transform, generalized transform, triple g-transformation, inverse integral transform.

Introduction

The problem of the inverse is one of the important problems in mathematics, as many analytical concepts depend on it to find a solution to differential and algebraic equations [].

Integral transformations are an important tool in solving differential equations by converting them into algebraic equations, then by using the inverse of the integral transformation, we can find the solution. In this paper, we introduce the inverse integral transformation by using derivative of function terms, and we also found a formula for triple g-transform the functions with the model $x^k y^n z^m f(x, y, z)$.

I- g- transformation :

1.1 Definition [9]:

g- transformation $g(f(x))$ for a function $f(x)$ where $x \in [0, \infty[$ is defined by the following integral

$$g(f(x)) = p(s) \int_0^{\infty} e^{-q(s)x} f(x) dx, p(s) \neq 0$$

Such that the integral is convergent for some $q(s)$, s is positive constant.

1.2 g- transformation of some selected function [9] :

ID	$f(x)$	$g(f(x))$ $= p(s) \int_0^{\infty} e^{-q(s)x} f(x) dx$
1	$K, K \text{ constant}$	$K \frac{p(s)}{q(s)}$
2	$\sin(ax)$	$\frac{ap(s)}{(q(s))^2 + a^2}$

3	$\cos(ax)$	$\frac{p(s)q(s)}{(q(s))^2 + a^2}$
4	x^k	$\frac{k! p(s)}{(q(s))^{n+1}}$

1.3 Definition [13]:

Let f be a continuous function of three variables then the triple g-transformation of $f(x, y, z)$ is defined as following :

$$\begin{aligned} T_{3g}(f(x, y, z)) &= T_g^s \left(T_g^\alpha \left(T_g^\beta (f(x, y, z)) \right) \right) \\ &= P_1(s) P_2(\alpha) P_3(\beta) \int_0^{\infty} \int_0^{\infty} \int_0^{\infty} e^{q_1(s)x - q_2(\alpha)y - q_3(\beta)z} f(x, y, z) dx dy dz \\ &= P_{(s, \alpha, \beta)} \int_0^{\infty} \int_0^{\infty} \int_0^{\infty} e^{q_1(s)x - q_2(\alpha)y - q_3(\beta)z} f(x, y, z) dx dy dz \end{aligned}$$

where $p_{(s, \alpha, \beta)} = p_1(s) \cdot p_2(\alpha) \cdot p_3(\beta)$ and $x, y, z > 0$ and s, α and β are positive constants, and $\sup \left| \frac{f(x, y, z)}{e^{ax+by+cz}} \right| < \infty$ for some $a, b, c \in \mathbb{R}$. The inverse of T_{3g} -transform is defined as following :

$$\begin{aligned} f(x, y, z) &= \frac{1}{2\pi i} \int_{\alpha-i\infty}^{\alpha+i\infty} \int_{\alpha-i\infty}^{\alpha+i\infty} \int_{\alpha-i\infty}^{\alpha+i\infty} P_1(s) P_2(\alpha) P_3(\beta) e^{q_1(s)x - q_2(\alpha)y - q_3(\beta)z} F(s, \alpha, \beta) ds d\alpha d\beta \end{aligned}$$

2.4 Table of T_{3sg} -transformation of selected functions [13]

ID	$f(x)$	$T_{3g}(f(x, y, z))$ $= P_{(s, \alpha, \beta)} \int_0^{\infty} \int_0^{\infty} \int_0^{\infty} e^{q_1(s)x - q_2(\alpha)y - q_3(\beta)z}$

1	$K, K \text{ const}$	$K \frac{p}{q_1 q_2 q_3}$
2	$\sin(ax + by + cz)$	$p \left[\frac{aq_2 q_3 - abc + bq_1 q_3 + cq_1 q_2}{(q_1^2 + a^2)(q_2^2 + b^2)(q_3^2 + c^2)} \right]$
3	$\cos(ax + by + cz)$	$p \left[\frac{q_1 q_2 q_3 - bcq_1 - abq_3 - acq_2}{(q_1^2 + a^2)(q_2^2 + b^2)(q_3^2 + c^2)} \right]$
4	$x^k y^m z^n$	$\frac{pk! m! n!}{(q_1)^{k+1} (q_2)^{m+1} (q_3)^{n+1}}$

II. Differential and integration:

2.1 Theorem:

Let $q_1 = s$, $q_2 = \alpha$, $q_3 = \beta$, $p(s, \alpha, \beta) = p_1(s) \cdot p_2(\alpha) \cdot p_3(\beta)$ then

$$\frac{\partial^{k+n+m} T_{3g}(f(x, y, z))}{\partial s^k \partial \alpha^n \partial \beta^m} = \sum_{r=0}^m \sum_{j=0}^n \sum_{i=0}^k c_i^k c_j^n c_r^m (-1)^{k+n+m-(i+j+r)} p_1^{(i)} p_2^{(j)} p_3^{(r)} T_{3g}(x^{k-i} y^{n-j} z^{m-r} f(x, y, z))$$

Proof:

$$\frac{\partial^{k+n+m} T_{3g}(f(x, y, z))}{\partial s^k \partial \alpha^n \partial \beta^m} = \int_0^\infty \int_0^\infty \int_0^\infty \frac{\partial^k}{\partial s^k} (p_1 e^{-sx}) \cdot \frac{\partial^n}{\partial \alpha^n} (p_2 e^{-\alpha y}) \cdot \frac{\partial^m}{\partial \beta^m} (p_3 e^{-\beta z}) f(x, y, z) dx dy dz$$

$$= \int_0^\infty \int_0^\infty \int_0^\infty \left[\sum_{i=0}^k c_i^k (p_1(s))^{(i)} (e^{-sx})^{(k-i)} \right] \cdot \left[\sum_{j=0}^n c_j^n (p_2(\alpha))^{(j)} (e^{-\alpha y})^{(n-j)} \right] \cdot \left[\sum_{r=0}^m c_r^m (p_3(\beta))^{(r)} (e^{-\beta z})^{(m-r)} \right] f(x, y, z) dx dy dz$$

$$= \int_0^\infty \int_0^\infty \int_0^\infty \left[\sum_{i=0}^k c_i^k (p_1(s))^{(i)} (-1)^{(k-i)} x^{k-i} e^{-sx} \right] \cdot \left[\sum_{j=0}^n c_j^n (p_2(\alpha))^{(j)} (-1)^{(n-j)} y^{n-j} e^{-\alpha y} \right] \cdot \left[\sum_{r=0}^m c_r^m (p_3(\beta))^{(r)} (-1)^{(m-r)} z^{m-r} e^{-\beta z} \right] f(x, y, z) dx dy dz$$

$$= \sum_{r=0}^m \sum_{j=0}^n \sum_{i=0}^k c_i^k c_j^n c_r^m (-1)^{k+n+m-(i+j+r)} p_1^{(i)} p_2^{(j)} p_3^{(r)} T_{3g}(x^{k-i} y^{n-j} z^{m-r} f(x, y, z))$$

2.2 Theorem:

Let $h(x), R(y), k(z)$ be a function work on $[0, \infty[$ then

$$h(x) \cdot R(y) \cdot k(z) = T_{3g}^{-1} \left(\frac{p}{q_1 q_2 q_3} \left[h(0) + \int_0^\infty \dot{h}(x) e^{-q_1 x} dx \right] \cdot \left[R(0) + \int_0^\infty \dot{R}(y) e^{-q_2 y} dy \right] \cdot \left[k(0) + \int_0^\infty \dot{k}(z) e^{-q_3 z} dz \right] \right)$$

Proof:

$$T_{3g}(f(x, y, z)) = p \int_0^\infty \int_0^\infty \int_0^\infty e^{-q_1 x - q_2 y - q_3 z} f(x, y, z) dx dy dz$$

$$f(x, y, z) = h(x) \cdot R(y) \cdot k(z)$$

thus

$$T_{3g}(f(x, y, z)) = p \int_0^\infty \int_0^\infty \int_0^\infty e^{-q_1 x - q_2 y - q_3 z} h(x) \cdot R(y) \cdot k(z) dx dy dz$$

$$= p \left[\int_0^{\infty} h(x)e^{-q_1x} dx \cdot \int_0^{\infty} R(y)e^{-q_2y} dy \cdot \int_0^{\infty} k(z)e^{-q_3z} dz \right]$$

By using partition integral meth

We get:

$$\begin{aligned} T_{3g}(f(x, y, z)) &= p \left[\frac{-1}{q_1} h(x)e^{-q_1x} \Big|_0^{\infty} + \frac{1}{q_1} \int_0^{\infty} \dot{h}(x)e^{-q_1x} dx \right] \\ &\cdot \left[\frac{-1}{q_2} R(y)e^{-q_2y} \Big|_0^{\infty} + \frac{1}{q_2} \int_0^{\infty} \dot{R}(y)e^{-q_2y} dy \right] \\ &\cdot \left[\frac{-1}{q_3} k(z)e^{-q_3z} \Big|_0^{\infty} + \frac{1}{q_3} \int_0^{\infty} \dot{k}(z)e^{-q_3z} dz \right] \\ &= p \left[\frac{1}{q_1} h(0) + \frac{1}{q_1} \int_0^{\infty} \dot{h}(x)e^{-q_1x} dx \right] \\ &\cdot \left[\frac{1}{q_2} R(0) + \frac{1}{q_2} \int_0^{\infty} \dot{R}(y)e^{-q_2y} dy \right] \\ &\cdot \left[\frac{1}{q_3} k(0) + \frac{1}{q_3} \int_0^{\infty} \dot{k}(z)e^{-q_3z} dz \right] \\ &= \frac{p}{q_1 q_2 q_3} \left[h(0) + \int_0^{\infty} \dot{h}(x)e^{-q_1x} dx \right] \\ &\cdot \left[R(0) + \int_0^{\infty} \dot{R}(y)e^{-q_2y} dy \right] \\ &\cdot \left[k(0) + \int_0^{\infty} \dot{k}(z)e^{-q_3z} dz \right] \end{aligned}$$

Therefore

$$\begin{aligned} h(x) \cdot R(y) \cdot k(z) &= T_{3g}^{-1} \left(\frac{p}{q_1 q_2 q_3} \left[h(0) + \int_0^{\infty} \dot{h}(x)e^{-q_1x} dx \right] \right. \\ &\cdot \left[R(0) + \int_0^{\infty} \dot{R}(y)e^{-q_2y} dy \right] \\ &\cdot \left. \left[k(0) + \int_0^{\infty} \dot{k}(z)e^{-q_3z} dz \right] \right) \end{aligned}$$

2.3 Note:

In Theorem() we note that if the require is $T_{3g}(x^k y^n z^m f(x))$ then we have 2^{k+n+m} stages for construction the final result

2.4 Example:

Find $T_{3g}(xyze^{x+y+z})$ $k = 1, n = 1, m = 1$

Solution:

By note () we have

o	k_o	n_o	m_o	$s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{1-i} y^{1-j} z^{1-r} e^{x+y+z})$
1	0	0	1	$s\alpha(xyze^{x+y+z})$
2	0	1	0	$s\beta T_{3g}(xze^{x+y+z})$
3	0	1	1	$sT_{3g}(xe^{x+y+z})$
4	1	0	0	$\alpha\beta T_{3g}(yze^{x+y+z})$
5	1	0	1	$\alpha T_{3g}(ye^{x+y+z})$
6	1	1	0	$\beta T_{3g}(ze^{x+y+z})$
7	1	1	1	$T_{3g}(e^{x+y+z})$

Stage -1: $k_0 = 0, n_1 = 1, r_1 = 1$

$$T_{3g}(x e^{x+y+z})$$

Where $q_1 = s, q_2 = \alpha, q_3 = \beta$

$$p_1 = s, p_2 = 1, p_3 = \beta$$

$$\begin{aligned} \frac{\partial T_{3g} e^{x+y+z}}{\partial s} &= \sum_{k=0}^0 \sum_{j=0}^0 \sum_{i=0}^1 c_i^1 c_j^0 c_r^0 -1^{1+0+0-(i+j+1)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{1-i} y^{0-j} z^{0-r} e^{x+y+z}) \end{aligned}$$

Since,

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\begin{aligned} \frac{\partial T_{3g}(e^{x+y+z})}{\partial s} &= \frac{\beta}{(\alpha-1)(\beta-1)} \left[\frac{s-1-s}{(s-1)^2} \right] \\ &= \frac{-\beta}{(\alpha-1)(\beta-1)(s-1)^2} \end{aligned}$$

Therefore:

$$\begin{aligned} \frac{-\beta}{(\alpha-1)(\beta-1)(s-1)^2} &= \sum_{i=0}^1 c_i^1 (-1)^{1-i} s^{(i)} \alpha \beta T_{3g}(x^{1-i} e^{x+y+z}) \end{aligned}$$

$$= -\alpha\beta T_{3g}(x e^{x+y+z}) + \alpha\beta T_{3g}(e^{x+y+z})$$

$$= -\alpha\beta T_{3g}(x e^{x+y+z}) + \alpha\beta T_{3g}(e^{x+y+z})$$

$$\begin{aligned} &= -\alpha\beta T_{3g}(x e^{x+y+z}) \\ &= \frac{-\beta}{(\alpha-1)(\beta-1)(s-1)^2} \\ &\quad - \frac{s\alpha\beta^2}{(s-1)(\alpha-1)(\beta-1)} \\ &= \frac{-\beta - s\alpha\beta^2(s-1)}{(\alpha-1)(\beta-1)(s-1)^2} \end{aligned}$$

Thus

$$T_{3g}(x e^{x+y+z}) = \frac{1 + s\alpha\beta(s-1)}{s\alpha(\alpha-1)(\beta-1)(s-1)^2}$$

Stage-2 : $T_{3g}(y e^{x+y+z}) \quad k_2 = 1, n_2 = 0, m_2 = 1$

$$\begin{aligned} &\frac{\partial T_{3g} e^{x+y+z}}{\partial \alpha} \\ &= \sum_{k=0}^0 \sum_{j=0}^1 \sum_{i=0}^0 c_i^0 c_j^1 c_r^0 (-1)^{0+1+0-(i+1+r)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{0-i} y^{1-j} z^{0-r} e^{x+y+z}) \frac{\partial T_{3g} e^{x+y+z}}{\partial \beta} \end{aligned}$$

Since,

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\begin{aligned} \frac{\partial T_{3g}(e^{x+y+z})}{\partial \alpha} &= \frac{s\beta}{(s-1)(\beta-1)} \left[\frac{\alpha-1-\alpha}{(\alpha-1)^2} \right] \\ &= \frac{-s\beta}{(s-1)(\beta-1)(\alpha-1)^2} \end{aligned}$$

Therefore:

$$\begin{aligned} &\frac{-s\beta}{(\alpha-1)(\beta-1)(s-1)^2} \\ &= \sum_{j=0}^1 c_j^1 (-1)^{1-j} s \alpha^{(j)} \beta T_{3g}(y^{1-j} e^{x+y+z}) \\ &= -\alpha\beta T_{3g}(y e^{x+y+z}) + s\beta T_{3g}(e^{x+y+z}) \end{aligned}$$

$$= -\alpha\beta T_{3g}(y e^{x+y+z}) + \frac{s^2\beta^2}{(s-1)(\alpha-1)(\beta-1)}$$

$$\begin{aligned} &= -\alpha\beta T_{3g}(y e^{x+y+z}) \\ &= \frac{-s\beta}{(s-1)(\beta-1)(\alpha-1)^2} \\ &\quad + \frac{s^2\beta^2}{(s-1)(\alpha-1)(\beta-1)} \end{aligned}$$

$$= \frac{\alpha-2}{(s-1)(\beta-1)(\alpha-1)^2}$$

Thus

$$T_{3g}(y e^{x+y+z}) = \frac{2-\alpha}{\alpha(s-1)(\beta-1)(\alpha-1)^2}$$

Stage -3: $T_{3g}(z e^{x+y+z}) \quad k_3 = 1, n_3 = 1, m_3 = 0$

$$\begin{aligned} &= \sum_{k=0}^0 \sum_{j=0}^0 \sum_{i=0}^1 c_i^0 c_j^0 c_r^1 (-1)^{0+0+1-(i+j+r)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{0-i} y^{0-j} z^{1-r} e^{x+y+z}) \frac{\partial T_{3g} e^{x+y+z}}{\partial \beta} \end{aligned}$$

Since,

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\begin{aligned} \frac{\partial T_{3g}(e^{x+y+z})}{\partial \beta} &= \frac{s\beta}{(s-1)(\alpha-1)} \left[\frac{\beta-1-\beta}{(\beta-1)^2} \right] \\ &= \frac{-s}{(s-1)(\alpha-1)(\beta-1)^2} \end{aligned}$$

Therefore

$$\begin{aligned} &\frac{-s}{(\alpha-1)(\beta-1)(s-1)^2} \\ &= \sum_{r=0}^1 c_r^1 (-1)^{1-r} \beta^r s \alpha T_{3g}(z^{1-r} e^{x+y+z}) \end{aligned}$$

$$\begin{aligned}
 &= -s\alpha\beta T_{3g}(z e^{x+y+z}) + s\beta T_{3g}(e^{x+y+z}) \\
 &\quad - s\alpha\beta T_{3g}(z e^{x+y+z}) \\
 &\quad + \frac{s^2\beta}{(s-1)(\alpha-1)(\beta-1)} \\
 &= -s\alpha\beta T_{3g}(z e^{x+y+z}) \\
 &\quad = \frac{-s}{(s-1)(\beta-1)(\alpha-1)^2} \\
 &\quad - \frac{s^2\beta}{(s-1)(\alpha-1)(\beta-1)} \\
 &= \frac{-s - s^2\beta^2(\beta-1)}{-s\alpha\beta(s-1)(\alpha-1)(\beta-1)^2}
 \end{aligned}$$

Thus

$$T_{3g}(z e^{x+y+z}) = \frac{-1 - s\beta(\beta-1)}{\alpha\beta(s-1)(\alpha-1)(\beta-1)^2}$$

Stage-4

$$T_{3g}(xy e^{x+y+z}) \quad k_4 = 0 \quad , n_4 = 0 \quad , m_4 = 1$$

$$\begin{aligned}
 &\frac{\partial T_{3g} e^{x+y+z}}{\partial s \partial \alpha} \\
 &= \sum_{k=0}^1 \sum_{j=0}^1 \sum_{i=0}^0 c_i^1 c_j^1 c_r^0 (-1)^{1+1+0-(i+j+1)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{1-i} y^{1-j} z^{0-r} e^{x+y+z})
 \end{aligned}$$

Since,

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\begin{aligned}
 \frac{\partial^2 T_{3g}(e^{x+y+z})}{\partial \alpha \partial s} &= \frac{-\beta}{(s-1)^2(\beta-1)} \frac{\partial}{\partial \alpha} \left(\frac{1}{\alpha-1} \right) \\
 &= \frac{\beta}{(\beta-1)(s-1)^2(\alpha-1)^2}
 \end{aligned}$$

Therefore

$$\begin{aligned}
 &\frac{\beta}{(\beta-1)(s-1)^2(\alpha-1)^2} \\
 &= \sum_{i=0}^1 \sum_{j=0}^1 c_i^1 c_j^1 (-1)^{1-i+j} s^{(i)} \alpha^{(j)} \beta T_{3g}(x^{1-i} y^{1-j} e^{x+y+z}) \\
 &= s\alpha\beta T_{3g}(xy e^{x+y+z}) - s\beta T_{3g}(x e^{x+y+z}) \\
 &\quad - \alpha\beta T_{3g}(y e^{x+y+z}) + \beta T_{3g}(e^{x+y+z})
 \end{aligned}$$

$$\begin{aligned}
 &= s\alpha\beta T_{3g}(xy e^{x+y+z}) - \frac{\beta}{(s-1)^2(\alpha-1)^2(\beta-1)} \\
 &\quad + \frac{s\beta(1+s\alpha\beta(s-1))}{s\alpha(\alpha-1)(\beta-1)(s-1)^2} \\
 &\quad + \frac{\alpha\beta(2-\alpha)}{\alpha(s-1)(\beta-1)(\alpha-1)^2} \\
 &\quad + \frac{s\beta^2}{(s-1)(\alpha-1)(\beta-1)} \\
 &= \frac{\alpha\beta + \beta(1+s\alpha\beta(s-1))(\alpha-1) + \alpha\beta(2-\alpha)(s-1) + s\alpha\beta^2(s-1)(\alpha-1)}{\alpha(\beta-1)(s-1)^2(\alpha-1)^2}
 \end{aligned}$$

$$\begin{aligned}
 &T_{3g}(xy e^{x+y+z}) \\
 &= \frac{\alpha + (1-s\alpha\beta(s-1))(\alpha-1) + \alpha(2-\alpha)(s-1) + s\alpha\beta(s-1)(\alpha-1)}{s\alpha^2(\beta-1)(s-1)^2(\alpha-1)^2}
 \end{aligned}$$

Stage-5

$$T_{3g}(yz e^{x+y+z}) \quad k_5 = 1 \quad , n_5 = 0 \quad , m_5 = 0$$

$$\begin{aligned}
 &\frac{\partial^2 T_{3g} e^{x+y+z}}{\partial \alpha \partial \beta} \\
 &= \sum_{k=0}^1 \sum_{j=0}^1 \sum_{i=0}^0 c_i^1 c_j^1 c_r^0 (-1)^{1+1+0-(i+j+1)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{1-i} y^{0-j} z^{0-r} e^{x+y+z})
 \end{aligned}$$

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\begin{aligned}
 \frac{\partial T_{3g}(e^{x+y+z})}{\partial \alpha} &= \frac{s\beta}{(s-1)(\beta-1)} \frac{\partial}{\partial \alpha} \left(\frac{-1}{(\alpha-1)^2} \right) \\
 &= \frac{-s\beta}{(s-1)(\beta-1)(\alpha-1)^2}
 \end{aligned}$$

$$\begin{aligned}
 \frac{\partial^2 T_{3g}(e^{x+y+z})}{\partial \alpha \partial \beta} &= \frac{-s}{(s-1)(\alpha-1)^2} \frac{\partial}{\partial \beta} \left(\frac{-1}{(\beta-1)^2} \right) \\
 &= \frac{s}{(s-1)(\alpha-1)^2(\beta-1)^2}
 \end{aligned}$$

Therefore

$$\begin{aligned}
 &\frac{s}{(s-1)(\alpha-1)^2(\beta-1)^2} \\
 &= \sum_{i=0}^1 \sum_{j=0}^1 c_i^1 c_j^1 (-1)^{1-i+j} s^{(i)} \alpha^{(j)} \beta T_{3g}(x^{1-i} y^{1-j} e^{x+y+z}) \\
 &= s\alpha\beta T_{3g}(yz e^{x+y+z}) - s\alpha T_{3g}(y e^{x+y+z}) \\
 &\quad - s\beta T_{3g}(z e^{x+y+z}) + sT_{3g}(e^{x+y+z})
 \end{aligned}$$

$$= \alpha\beta T_{3g}(yz e^{x+y+z}) - \frac{s}{(\beta-1)^2(\alpha-1)^2(s-1)} + \frac{\alpha(2-\alpha)}{\alpha(s-1)(\beta-1)(\alpha-1)^2} + \frac{s\beta(1+s\beta(\beta-1))}{\alpha\beta(s-1)(\alpha-1)(\beta-1)^2} - \frac{s^2\beta}{(s-1)(\beta-1)(\alpha-1)}$$

$$= \alpha\beta T_{3g}(xz e^{x+y+z}) - \frac{s\beta}{(\beta-1)^2(s-1)^2(\alpha-1)} + \frac{\alpha(1+s\alpha\beta(s-1))}{\alpha(\alpha-1)(\beta-1)(s-1)^2} + \frac{\beta\alpha(1+s\beta(\beta-1))}{\alpha\beta(s-1)(\alpha-1)(\beta-1)^2} - \frac{s\alpha\beta}{(\alpha-1)(s-1)^2(\beta-1)^2}$$

$$= \frac{\alpha s + \alpha s(2-\alpha)(\beta-1) + s(-1\alpha)(1+s\beta(\beta-1)) - s^2\alpha\beta(\alpha-1)(\beta-1)}{\alpha(s-1)(\alpha-1)^2(\beta-1)^2} = \frac{s\beta(1+s\alpha\beta(s-1)) + (s-1)(1+s\beta(\beta-1)) - s\alpha\beta}{(\alpha-1)(s-1)^2(\beta-1)^2}$$

$$T_{3g}(yz e^{x+y+z}) = \frac{\alpha + \alpha(2-\alpha)(\beta-1) + (\alpha-1)(1-s\beta(\beta-1)) - s\alpha\beta(\alpha-1)(\beta-1)}{\alpha^2\beta(s-1)(\alpha-1)^2(\beta-1)^2}$$

$$T_{3g}(xz e^{x+y+z}) = \frac{s\beta + (\beta-1)(1+s\alpha\beta(s-1)) + (s-1)(1+s\beta(\beta-1)) - s\alpha\beta}{(\alpha-1)(s-1)^2(\beta-1)^2}$$

Stage-6

$$T_{3g}(xz e^{x+y+z}) \quad k_6 = 0 \quad , n_6 = 1 \quad , m_6 = 0$$

$$\frac{\partial^2 T_{3g} e^{x+y+z}}{\partial s \partial \beta} = \sum_{k=0}^1 \sum_{j=0}^1 \sum_{i=0}^0 c_i^1 c_j^1 c_r^0 (-1)^{1+1+0-(i+j+1)} s^{(i)} \alpha^{(j)} \beta^{(r)} T_{3g}(x^{1-i} y^{0-j} z^{0-r} e^{x+y+z})$$

Since,

$$T_{3g} e^{x+y+z} = \frac{s\beta}{(s-1)(\alpha-1)(\beta-1)}$$

Thus

$$\frac{\partial T_{3g}(e^{x+y+z})}{\partial s} = \frac{-\beta}{(\alpha-1)(\beta-1)} \frac{\partial}{\partial \alpha} \left(\frac{-1}{(s-1)^2} \right) = \frac{-\beta}{(\alpha-1)(\beta-1)(s-1)^2}$$

$$\frac{\partial^2 T_{3g}(e^{x+y+z})}{\partial \beta \partial s} = \frac{-s}{(s-1)(\alpha-1)(\beta-1)^2} = \frac{s\beta}{(\alpha-1)(s-1)^2(\beta-1)^2}$$

Therefore

$$\frac{s\beta}{(\alpha-1)(s-1)^2(\beta-1)^2} = \sum_{i=0}^1 \sum_{j=0}^1 c_i^1 c_j^1 (-1)^{1-i+j} s^{(i)} \alpha^{(j)} \beta T_{3g}(x^{1-i} y^{1-j} e^{x+y+z})$$

$$= \alpha\beta T_{3g}(xz e^{x+y+z}) - \alpha T_{3g}(x e^{x+y+z}) - \beta\alpha T_{3g}(z e^{x+y+z}) + \alpha T_{3g}(e^{x+y+z})$$

References

[1] Aboodh, K. S., (2013)."The New Integral Transform 'Aboodh Transform", Global Journal of Pure and Applied Mathematics, Vol. 9, No. 1, pp 35-43

[2] BelgacemFethi Bin Muhammed and Ahmed Abdul JatifKaraalli, "Sumudu Transform Fundamental Properties", Journal of Applied Mathematics and Stochastic Analysis, Vol. 2006, Article ID 91083, pp 1-23.

[3] Bölükbas, Deniz and A. ArifErgin,(2005)."A Radon transform Interpretation of the Physical Optics Integral", Microwave and Optical Technology Letters, Vol. 44, No. 3.

[4] Brian Davies, 2002,Integral Transforms and their Applications, Springer, USA, p 430.

[5] Bulnes Francisco, (2015)."Mathematical Electrodynamics: Groups, Cohomology Classes, Unitary Representations, Orbits and Integral Transforms in Electro-Physics", American Journal of Electromagnetics and Applications, Vol. 3, No. 6, pp 43-52.

[6] Enesiz, Y. C. and A. Kurt, (2016)."New Fractional Complex Transform for Conformable Fractional Partial Differential Equations",JAMSI, Vol. 12, No. 2.

[7] Elzaki, Tarig M., Salih M. Elzaki and Elsayed A. Elnour, (2012)."On the New Integral Transform "ELzaki Transform" Fundamental Properties Investigations and Applications", Global Journal of Mathematical Sciences: Theory and Practical, Vol. 4, No. 1, pp 1-13.

[8] Gabriel Nagy,2014, "Ordinary Differential Equations" Mathematics De-partment, Michigan state University, East lansing. MI 48824,p 267.

- [9] Hossein Jafari, 2020, A new general integral transform for solving integral equations, Journal of Advanced Research, vol. 32, No.2021, pp. 133-138.
- [10] Polyanin, Andrei D., and Alexander V. Manzhirov, (2006)."Handbook of Mathematics for Engineers and Scientists", Book,CRC Press.
- [11] Poularikas, Ed. Alexander D., (2000)."The Transforms and Applications Handbook", Second Edition, CRC Press LLC.
- [12] Geem M.H. and Abood A.M., Double α -g-Transformation and Its Properties, Journal of Al-Qadisiyah for Computer Science and Mathematics Vol. 14(3) 2022 , pp. 33–41.
- [13] Geem M. H. and Hadi R.J. , On Generalized Triple Transformation, International Journal of Academic and Applied Research (IJAAR), Vol. 6, Issue 12, pp. 9-15